

Market Value Summary:

| | Current Period | Year to Date |
|-------------------------|-----------------|------------------|
| Beginning Balance | \$47,874,877.95 | \$44,240,236.50 |
| Contributions | \$74,500.00 | \$2,391,936.94 |
| Withdrawals | (\$500,000.00) | (\$1,500,000.00) |
| Transfers In/Out | \$0.00 | \$0.00 |
| Income | \$35,779.04 | \$126,705.83 |
| Administrative Expense | (\$654.53) | (\$3,743.65) |
| Investment Expense | (\$1,047.00) | (\$9,840.50) |
| Investment Manager Fees | (\$54.37) | (\$1,736.61) |
| IFA Loan Repayment | \$0.00 | (\$36,013.92) |
| Adjustment | \$10,741.44 | \$10,741.44 |
| Realized Gain/Loss | \$84.64 | \$16,331.82 |
| Unrealized Gain/Loss | (\$669,279.12) | \$1,590,330.20 |
| Ending Balance | \$46,824,948.05 | \$46,824,948.05 |

Performance Summary:

| | MTD | QTD | YTD | One Year | Three Years | Five Years | Ten Years | Inception to Date | Participant Inception Date |
|--------------|---------|---------|-------|----------|-------------|------------|-----------|----------------------|-------------------------------|
| Net of Fees: | (1.33%) | (0.45%) | 3.83% | N/A | N/A | N/A | N/A | 1.89% | 09/01/2022 |

HIGHLAND PARK POLICE PENSION FUND

Fund Name:

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

| | Current Period | Year to Date |
|-------------------------|----------------|---------------|
| Beginning Balance | \$934.48 | \$54,295.19 |
| Contributions | \$0.00 | \$0.00 |
| Withdrawals | \$0.00 | \$0.00 |
| Transfers In/Out | (\$918.60) | (\$56,547.49) |
| Income | \$3.72 | \$68.75 |
| Administrative Expense | \$0.00 | \$0.00 |
| Investment Expense | \$0.00 | \$0.00 |
| Investment Manager Fees | \$0.00 | \$0.00 |
| IFA Loan Repayment | \$0.00 | \$0.00 |
| Adjustment | \$0.00 | \$0.00 |
| Realized Gain/Loss | (\$18.69) | \$1,751.36 |
| Unrealized Gain/Loss | (\$0.91) | \$432.19 |
| Ending Balance | \$0.00 | \$0.00 |

Unit Value Summary:

| | Current Period | Year to Date |
|---|----------------|--------------|
| Beginning Units | 102.986 | 6,218.388 |
| Unit Purchases from Additions | 0.000 | 33.715 |
| Unit Sales from Withdrawals | (102.986) | (6,252.103) |
| Ending Units | 0.000 | 0.000 |
| Period Beginning Net Asset Value per Unit | \$9.073836 | \$8.731284 |
| Period Ending Net Asset Value per Unit | \$0.000000 | \$0.000000 |

Performance Summary:

HIGHLAND PARK POLICE PENSION FUND

| | MTD | QTD | YTD | One Year | Three Years | Five Years | Ten Years | Inception to Date | Participant Inception Date |
|--------------|-------|-------|-------|----------|-------------|------------|-----------|----------------------|-------------------------------|
| Net of Fees: | 0.00% | 0.00% | 0.00% | 0.00% | 0.00% | 0.00% | 0.00% | 0.00% | 09/13/2022 |

HIGHLAND PARK POLICE PENSION FUND

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

| | Current Period | Year to Date |
|-------------------------|-----------------|------------------|
| Beginning Balance | \$47,873,943.47 | \$44,185,941.31 |
| Contributions | \$74,500.00 | \$2,392,181.46 |
| Withdrawals | (\$500,000.00) | (\$1,500,000.00) |
| Transfers In/Out | \$918.60 | \$56,359.47 |
| Income | \$35,775.32 | \$126,580.58 |
| Administrative Expense | (\$654.53) | (\$3,743.65) |
| Investment Expense | (\$1,047.00) | (\$9,840.50) |
| Investment Manager Fees | (\$54.37) | (\$1,736.61) |
| IFA Loan Repayment | \$0.00 | (\$36,013.92) |
| Adjustment | \$10,741.44 | \$10,741.44 |
| Realized Gain/Loss | \$103.33 | \$14,580.46 |
| Unrealized Gain/Loss | (\$669,278.21) | \$1,589,898.01 |
| Ending Balance | \$46,824,948.05 | \$46,824,948.05 |

Unit Value Summary:

| | Current Period | Year to Date |
|---|----------------|---------------|
| Beginning Units | 4,801,762.541 | 4,659,064.041 |
| Unit Purchases from Additions | 8,744.276 | 253,494.169 |
| Unit Sales from Withdrawals | (50,364.843) | (152,416.236) |
| Ending Units | 4,760,141.974 | 4,760,141.974 |
| Period Beginning Net Asset Value per Unit | \$9.970077 | \$9.483855 |
| Period Ending Net Asset Value per Unit | \$9.836881 | \$9.836881 |

Performance Summary:

HIGHLAND PARK POLICE PENSION FUND

| | MTD | QTD | YTD | One Year | Three Years | Five Years | Ten Years | Inception to Date | Participant Inception Date |
|--------------|---------|---------|-------|----------|-------------|------------|-----------|----------------------|-------------------------------|
| Net of Fees: | (1.33%) | (0.45%) | 3.83% | N/A | N/A | N/A | N/A | 9.08% | 09/23/2022 |

Statement of Transaction Detail for the Month Ending 05/31/2023

HIGHLAND PARK POLICE PENSION FUND

| Trade Date | Settle Date | Description | Amount | Unit Value | Units |
|-----------------|-------------|---------------------------------|--------------|------------|---------------|
| Transition Pool | | | | | |
| 05/25/2023 | 05/26/2023 | Transfers Out | (918.60) | 8.919671 | (102.9861) |
| IPOPIF Pool | | | | | |
| 05/01/2023 | 05/01/2023 | Emerging Market Debt Adjustment | 10,741.44 | 9.970077 | 1,077.3678 |
| 05/12/2023 | 05/15/2023 | Redemptions | (500,000.00) | 9.927560 | (50,364.8429) |
| 05/24/2023 | 05/25/2023 | Contribution | 74,500.00 | 9.837097 | 7,573.3725 |
| 05/25/2023 | 05/26/2023 | Transfers In | 918.60 | 9.820810 | 93.5361 |